#include <stdio.h>
#include <stdlib.h>
#include <string.h>

int main()

{
char nome[6] [50];
long int tamanhol[6];
long int total;

// scanf("%s %1d", nomel[0],
&tamanho[0]);

// scanf("%ss %1d", nome[1l],
&tamanho[1]);

// scanf("%ss %1d", nome[2],
&tamanho[2]);

// scanf("%s %1d", nomel[3],
&tamanho[3]);

// scanf("%s %1d", nomel[4],
&tamanho[4]);

// scanf("%s %1d", nomel[5],

&tamanho[5]1);

strcpy(nome[@], "Alexandre");
tamanho[0] = 456123789;

strcpy(nome[1l], "Anderson");
tamanho[1] = 1245698456;

strcpy(nome[2], "Antonio");
tamanho[2] = 123456456;

strcpy(nome[3], "Carlos");
tamanho[3] = 91257581;

strcpy(nome[4], "Cesar"); tamanhol[4]
= 987458;

strcpy(nome[5], "Rosemary");



tamanho[5] = 789456125;

total =
tamanho [@]+tamanho[1]+tamanho[2]+tamanho
3]+tamanho[4]+tamanho[5];

printf("ACME Inc.\t\t\tUso do espado
em disco pelos usu-rios\n");

printf("Nr. Usu-rio\tEspaAo
utilizado\t %% do uso\n");

//float tmp = tamanho[0]%100.0/;
printf("1 %s\t %.2f MB\t %.2f%%\n",
nome[@],tamanho[0]/1024.0/1024,
tamanho[0]*100.0/total );
printf("2 %s\t %.2f MB\t %.
nome[1l],tamanho[1]/1024.0/1024,
tamanho[1]%100.0/total );
printf("3 %s\t %.2f MB\t %.
nome[2],tamanho[2]/1024.0/1024,
tamanho[2]*100.0/total );
printf("4 %s\t %.2f MB\t %.
nome[3],tamanho[3]/1024.0/1024,
tamanho [3]*100.0/total );
printf("5 %s\t %.2f MB\t %.2f%%\n",
nome[4],tamanho[4]/1024.0/1024,
tamanho[4]%100.0/total );
printf("6 %s\t %.2f MB\t %.2f%%\n",
nome[5],tamanho[5]/1024.0/1024,

2f%%\n",

2f%%\n",

21%%\n",



tamanho[5] /total*x100.0 );

//printf("Nome: %s, espaco %d",
nome[0], tamanho[0]);

return 0;



